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No. of Questions/ayat ) wwar : 120

lime 2 2 Howgs) [Full Marks : 360
5293 trte : 360

Note : (/) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question.
sftemfas ST H T T w1 OWEE | TlS ¥ 3 (A7) dE ow R
N Ted I F [0 oF A Fer aram | IE FaRd YW
TN I & |

(i) 1f more than one alternative answers seem to be approximate to the
correct answet, choose the closest one.

e s d%icas T o0 s & e vdfia &, & Reeaw gd 3
o N

1. Thenatural rate of unemployment is ;
(1) The rate that produces worker revolutions
(2) Rate at which there are no inflationary pressures
(3) The equilibrium to which the economy naturally tends
(4) Zero un-employment
EREU IR CR G
(1)ag T A Afics Ffa 99 el A
(2)7r @ frm w ggedife & F @ T fa
(3) vae R fe seforsen w@nnfes &9 8 v et @
4 71 R-TrAm

{1} {(Turn Guer)
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2. Thelong run Phillips curve :

(1) Is a horizontal line at the expected rate of inflation ?

(2) Graphs an upward sloping curve

(3) Shows a trade-off between inflation and unemployment
(4) Is a vertical line at the natural rate of uncmﬁlii}ment 7

& et fferem =

(1) TR B yefie R o AR ta |

(2) 0% F 6 iR 350 o A weRfa  d

(3) e 3 A & d9 - B feam ¥ |

(4) Tl 1 TR T I @

3. Milton Freidman argued that :

(1) People's past experiences determine their behaviour.

(2) People's expectations about the future determine their behaviour.
(3) People are irrational.

(4) In the long run, people's expectations are irrelevant.
forez i 3 b o i

(1) il & dr 3Fva 31 aer w1 i ww )

(2) wfesy 7 A 3 i R TiEn I3 SgaRn F ko FwEt €
(3) @ fEFEE A |

(4) 2w g, A e smafe ad € )

(2) (Continued)
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Productivity measures :

(1) real output per unit of input

(2) amount of capital goods used per worker

(3) changes in wealth caused by price level changes

(4) per unit production costs

g friferfa Y ot & -

(1) Wi 71 oMa 9 Ireafas Iz i

(2) v 5t 3wam i 7 areft ol agei @ e
(3) 4 TR oiEd & wo v § weena

(4) i whTd IFAEA AT

An appropriate fiscal policy in times of recession is :
(1) decrease in government spending

(2) appreciation of dollar

(3) increase in interest rates

(4) decrease in tax rates

e & QN A T 9T T A R -

(1) ot @« § it

(2) SieR & e | g

(3) == gd & 3fg

(4) w0 § =i

(3)

18P/309/23(1)

(Trry Over)
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6.

Open market operations refers to:
(1) purchases of stock in exchange

(2) purchase of land by government

(3) purchase and sale of government securities by Central Bank
(4) purchase of assets by an individual

gl a6t B #i 3 2.

(1) =T T | Wi H %

(2) T g ) @l

(3) ¥ &% g weh sRft 6wt i st

(4) ua =i g wwafa 6 Gl

The consumption function shows the relationship between consumer expendi-
ture and :

(1} interest rate (2) savings

(3) disposable income (4) tax rates

49T e IO 54Y 3 ———— & ot wau gt &
(1) = 5T (2) g=d

1) =99 I AN (@) wH
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< he marginal propensity o consume (MPC) is the slope of the :
{1} GDP curve (2} Consumption function

+3) Phillips curve (4) Disposable income curve

g ARy (TR R e e B

U AEH, % (2) 379M SeW
(2) e 9% (4) =55 99 I I%

Which of the following is a range or ranges of supply curve ?

1} Kevnesian range (2) Classical range

{3) Intermediate range (4) All of the _abm{e.
ﬁmﬁ‘é&ﬁ?mﬂﬂﬁﬁﬁﬁ'ﬁ'm3? .
DETivckc : (2) Fenfema T |
(3) feviier Y

Demand pull inflation is caused by :
(1) anincrease in aggregate demand  (2) decrease in aggregate demand

(3) anincrease in aggregate supply  (4) an decrease in aggregate supply

nf e el w1 o d
(1) wwed o 3 gig (2) Tt e i
3) e wmfd | g | (4} g s 3 w4

{3 (Turn Over)
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i1. The marginal efficiency of Capital can be expressed as:
* (1) Supply price = Discqﬁnt rate * ﬁismuntcd pmsyecti;.re yields
(2) Supply price = Whole prospective yields
(3) Supply price = Discounted prospective yields
{(4) None of the above.
& & i v @ el s wm i s R s awa @
(1) g e = 9 A T il hew
(2) wmfd 7 = R 9 I
(3) g qra = 4iF Wﬁﬂ uﬁma
(4) I g o7 T |
12. Economic development includes :
(1) Quantitative indicators (2) Qualitative indicators
(3) Both (1) and (2) r S {4) None of the above.

wrety, e d e €

(1) HIEATOqS Tehdeh (2) TOTERS Heha
(3) (1) i (2) 2w (4) 390 =d off Y |

(6) (Continued)
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Concept of unlimited labour supply is applicable to ;

( 1} Agriculture sector (2) Service sector

(3) Energy sector (4) Manufacturing sector
areffir wm amqfd < srarvmon fie e A

(1) 7y g (2) Fan &y

(3) St &7 (4) fefmim &

Scientific study of welfare aspect was undertaken by :

(1) A.C.Pigou (2) J.M. Keynes

(3) A.Harsen (4) K. Arrow

foreeh gra e % wEe] F A e v w7
(1), &, g (2) X, @, F=
(3) @ 3 (4) %, ¥

The premise that benefit of economic growth will reach all sections of the
population is called :

(1) Take off effect (2) Take up effect
(3) Trickle down effect (4) Backlash effect
72 iR i il fam 1w SeEn & oft wvd § vta s, w6 e

1) ¥ I W (2) % 39 WA

(3) EFa 2= aue (4) FFeH IVE

7} { Turn eer
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17.

P

Poverty in India is defined in terms of :

(1) Calorie intake (2) Housing

i 3) Clothing (4) Lifestyle
sm F T F feaia & w9 3§ gienie e
(1) Fed TEw (2) @@

(3) F9g (4) S eft
Vicious circle of poverty theory was developed by

(1) J. E.Meade (2) 1. Robinson
(3) Friedman “4) Rﬂgnﬁrerllrkse
i =1 gy g T g Rl frn e 2
(1) 2. %4 (2) 3, tfe=e
(3) Freia (4) b vl

Underdeveloped countries used to be referred as :

(1) First World countries (2) Third World countries
{3) Fourth World countries (4) Second World countries

2T T S R T ol
(1w 9T & 3@ (2) gl fama = g
3) =g faes % 2w (4) T P & 3w

(&) (Continued)
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Financial dualism theory was developed by :

(1) AM.Khan (2) Harrod (3) Solow (4) H. Myint
it e Rrgrr fress gro et v e 2

(Dewan (2§ (3) et (4) w8, =
Indivisibilities are a concept of which theory ?

{1} Vicious circle of poverty theory ~ (2) Schumpeterian theory

(3) Critical minimum effort thesis ~ (4) Big push theory

Ffewregard T fagra & s@urem § 7
(1) frden 1 gva g (2) e =1 g
(3) wifer =Fe vavg fifta (4) 9K T uth = fg

Unbalanced growth strategy was supported by :

(1) Ragner Nurkse (2) Harvey Leibenstien
(3) Hirschman (4) Arthur Lewis
srafera frewra R @ g Ree fem @ 7

(1) bR (2) T fe=m

(1) gdi (4) st s

(9) (Turn Over)
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22. “heconcept of shadow prices was first defined by :

23,

24,

() G Mydral (2) Irvin Fischer
.2} J. Tinberger (4) H. Leibenstein

7 himdt (St e Y el fReR ftnfia e e 1

(1) ¥, Hige (2) ¥ fem
v, et (4) T, ha=dm

* jan Drama was written by :

(1) J.K. Galbraith (2) Gunnar Mydral
{3) Ragner Nurkse (4) A.K. Sen
(1), %, Tow (2) TS
T ) ¥ &

Ne=mographic transition refers to :
{ 1) Migration of people

.+ Change in male-female ratio of the population

shiil from high birth and death rates to one of low birth and deatn . .

.+ Shift from high birth to low death rates

(10)

(Continuec?
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(1) <l = saraw

(2) SET} % Teu-Afen T A T

(2) aaamahﬁatﬁmﬁ M oy | § e

(4) 39 59 | =9 g &1 ° ﬁmm

For economic development S.chlim;:eter gave importance to
(1) Politicians (2) Civil Servants
(3) Money Lenders (4) Innovators
anfifs R % forg yedfie 3 f6dt wees R 7

(1) Trarta () R e B
(3) uRTaTet .(4} T Y
Who constructed Physical Quality of Life Index (PQLI) ?
(1) Morfis D. Morsis (2) Amartya Sen

(3) Jagdish Bhagwati (4) Kenneth Arrow
fire sfia o gEwe (PQLI) 1 fwivr fan 7

(1) wifea &, Wi _ (2) med 39

(3) Tty st (4) g &

(11) (Turn Over)
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28.

19,

In USA, major share of national income is derived from :

(1) Agriculture sector * (2) Industry

(3) Service (4} None of the above.

g, ¥ e e w1 ag feen P @ g #

(1) T &= (2) 3@

(3) Bar & (4) 370 i€ o 7 |
Concept of conspicious consumption was introduced by : |
(1) Max Weber (2) T. Veblen

(3) A.K.Sen (4) K.N. Raj

TegH I ) srumon = TEd e R g o
(1) ¥ 9= (2) A, J

(GTH ¥ “ (4%, @, T

The Critical Minimum Effort theory was developed by :

(1) A.Lewis (2) Fei-Ranis
(3) H. Leibenstein (4) Rosestein-Rodan
st =[ran A frgre fewd g fesfie e mn ar 7
(1) w o (@) B
(3) W, s | (4) ﬂ:@mﬁ-ﬂm
(12)

(Continued)
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30. Assumption of Heckscher-Ohlin Theory are :

(1} Perfect Competition

(2) Perfect factor mobility within country
(3) Immobility of factors outside the country
(4) All of the above.

et~ aiglem forgra & m=ar & 7

(1) o st
(2) 3 & sfter 3rare & Wt o qof nfsfierar
(3) 391 & STEL HWHI 6 SRR
(4) 3 w4t |

. Adam Smith advocated :
{1) Restricted trade (2) Custom duty
(3) Import tariff (4) Free trade
wsq fay & a@e 6
(1} wfaafer smm (2) € geh
(3) 3R Yesh (4) TR =ATIR

(13) (Turn Over)
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32. OPEC controls oil export through :

33

34.

(1) Cartel (2) Monopoly

(3) Dumping (4) None of the above.
OPEC = frafa = Ry v frafig s 2

(1) e gra (2) R g

(3) wfwgam (3f) gra (4) 390 i ot 7 o

Prebisch's argument is concerned with deterioration of terms of trade against :

(1) Developed countries (2) Developing countries

(3) Osl producing countries (4) Underdeveloped countries
tfrw =1 o & e feg s ) vl # froae @ safim 9

(1) et 2 (2) fasrerefien 2t

(3} o Jewres SR (4) AFHfEa S

Leontief Paradox occurs because of :

(1) Factor reversal (2) Factor price equalisation
(3) Complete specialisation (4} None of the above.
fermads fadamm Profafas $ s o s

T IohEl (2 Tes hime g

¢3) @ ferresen (4) Ik B ot 74 |

(14) (Continued)
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3. Food-grains in India are canalized by :

36,

gt

(1Y ONGC (2) QIL (3) FQ1 (4) MMIC
wr 3 wramst w5 fre & gro s e s b

(1) AWHA,  (2) Aariva G wHIE, () EWAH,
Difference in export and import of services is called

(1) Balance of visible (2) Balance of invisibles

(3) Balance of trade (4) Balance of current account

gai e e d A Fmam ¥ ;
(1) g H Hge (2) SGEHR T HIEH
(3) AR 1 WG (4) =1e] W 1w

Offer curves were developed by :

(1) Alfred Marshall (2) Keynes
(3) A. Pigou (4) Ricardo
W =% i e g foetam T man 7

(1) 2% wreie (2) F
(3) g, i (4) fewrst

(i3} (Turn Over)
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i%. Market at which transaction will be consummated at some specified time in
future is called ;

(1) Spot market (2) Current market
(33 Capital market (4) Forward market

T frm w oes wie § g Rifves ww A @ oa som, s

(1) ST AR (2) =ie] sIrAR
(3)qat &l (4) FiAE =T

30, Bretton woods system introduced :

(1) Fixed exchange rate (2) Adjustable peg system
(3) Crawling peg system (4) Free exchange rate
#7456 YuTiell % 6

(1) for Rfmm = (2) TR 97 JoITet

(3) shitert 9 fereem (4) 9% fafima

2 Arthur Dunkel headed :
SpFittia (2) GATT (3) WorldBank  (4) ADB
2 TR Y ‘21’ :

Crwinsas (iR (3) fEm = (4) w sl

(16) (Continued)



18P/309/23(1)

41. The law of reciprocal demand is associated with :

(1) Alfred Marshaii (2) 1. §. Mill
(3) David Ricardo (4) Adam Smith
sehe A 0 Fram e W @ gen k
(1) 3138 Ardier (2) 3, @, B
(3) 33 feapre (4) T fory
42. Exporters can reduce their risk by :
(1) Hedging (2) Arbitrage
(3) Speculation (4) None of the above.
fratast gro o <ifigw = &0 = v €
(1) ¥ (2) g
(3)wa (4) I%ren = oft 7 |

43. Which one of the following authored the book 'Planned Economy for India' in
1934 ?

(1) M.N.Roy (2) M. Vishweswarayya

(3) D.R. Gadgil (4) V.K.R.V.Rao
fr= # & 9 1934 ¥ ‘e @i wR iR’ TmE g e a1 ¢
(1) @, @, W™ (2) . favastan

(3) &, s, mefi (4 fa, &, s &t w=

(17) (Turn Over)
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44,

43.

Intellectual property rights include :

(1) Patents (2) Copyrights

(3) Trademark (4) All of the above.
g dug aferd & mive ¥

(1) Fe=m (2) Hidfieg

(3) (4) FTw A |

Which ene of the following characteristics is widely regarded as being an
important aspect of sustainable development ?

(1) Inter-generational equity

(2) Increasing consumption expenditure
(3) Intra-generational inequity

(4) Increased levels of saving

?ﬁ%#ﬁ%ﬁﬁmmﬁﬁﬂ%mm@mwm
7

(1) = -FATHS qFA
(2) 3o =g # et g 9fy
(3) A -SRI S

(4) w7 % = & 3fg

(18) (Continued)
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Which one of the following is not a 'renewable’ energy source ?

(1) Solar (2) Coal (3) Wave (4) Wind
it @ 9 o o TRl T d TE 7
(1) & (2) Fran (3) W (4)a1g

Which of the following may result from overgrazing ?

(1) Desertification (2) Water efficiency

(3) Introduction of exotic species (4) Alteration of plant communities
Fra d @ 2 @ afy s =1 ofom w4 7

(1) & (2) 9% z@m

(3) fadaft wnfei &1 amaA (4) Frefey agert 1 aftedy
Environmental resources are :

(1) Total goods and services produced in the country

(2) Total solar energy converted to use in production

(3) All natural assets

(4) All man-made assets

qgfate e R

(1) T # senfee gt 7] ok dard

(2) IeaRA % Iwam & giafda gt el $a W

(3) wft wrHfe Hag
(4) &t geEfAfifa o

( ]9} fTH."ﬂ GVEP‘:!
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49.

0.

51.

Which of the following reduce planet's carrying capacity 7
(1) Pollution (2) Environment conservation

(3) Reduction in consumption (4) Reduced carbon emissions

frafafaa 3 § 9 @ 78 6 uRoig aoe S %W a7

(1) sgE™ (2) atamr FuEm

(3) @ & % (4) B el I

Which of the following did Malthus's theory failed to envision ?

(1) Improved contraceptives (2) Technological improvement
(3) Both (1) and (2) (4) None of the above,

Profifee 4 S Tem W Rgm e s i fava w 7
(1) Fga mibius (2) wirh! gam

(3) (1) 3T (2) @ (4) 3 = Rt 7 |
Sustainable development means :

(1) Maximizing economic growth

(2) Increasing employment opportunities

(3) Holistic development and inter generational equity

(4) Maximizing income inequalities

(20) (Continued)
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HuRvit fasm w1 ol R

(1) 3 e ) Rt

(2) T a7 & gy

(3) wHmTHe o U SR wHat
(4} 3 £ R & TR

What is the efficiency rule ?

(1) Equalizing social MB to social MC

(2) Equalizing MC across all plants to achieve the desired level of emission
reduction

(3) Equalizing total net benefit to zero

(4) None of the above.

aeran fram @ = sfigm 2 2

(1) smnfees MB % gmifos MC & et @

(2) it iz & MC =i Juat &6 el sweei 8§ w0 o o1 5%
(3) F& UG o9 H T & T FE

A T E

{21) (Turn (Jver:
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53.

54.

55.

A person cannot be excluded from consuming a public good, even when the
person does not pay for the good. This characteristics of public good 1s called ;

(1) Nonrivalness (2) Nonexcludability
(3) Anthropocentricity (4) Rationality

T AT F UidE T T N A A e A8 Tan S qwar @, I € ek 3
3 o prem A R | aeeE g R e

(1) R (2) < s

(3) 79 Ffsw (4) frawferar

Willingness to pay fo:r environmental good protection measures an individual ;
(1) Economic growth valuation (2) Environmental valuation

(3) Self-growth (4) Community valuation

et s o watacfia F6g % deE R YTAR & A w1, mo
(1) i e i (2) wafarta e

(3) i (4) Trgeres e

The threshold level of emission is :

(1) Zero level of emissions

{2) The minimum level of emissions to begin to cause a damage
{3) I'he maximum level of emissions

4} None of the above.

(22) (Continued)
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I 4 guges For

L)Y 3T

(2) &la 1 wnw T ¥ R el w1 g wR
(3) seadn i arftram o

(4) 0 H | wE o

How much would you be willing to pay for 10% improvement in air quality is
likely to depend o5

(1) The current ievel of air quality

(2) Your income level

(3) Your attitude/preference for environmental quality
(4) Your education

arg o § 10% or & Rg o e yam aven s § R w vk gen o
e

(1) a1 T & TG T
(2) 3TGht 3T T
(3) armashi waiariy peEe & afa AfwR

(1) 3 o foay

(23) (Turn Over)
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Lwo principal characteristics of ‘economics approach'are :
(1 Rationality and anthropocentricity

(2) Rationality and efficiency

33 batciency and cost effectiveness

{4) Efficiency and equity

¥ o 1 2 g Rt &

(i) Pa=tior @ qHases

2y fagaftenT Od qEd

{3) o W EI aEy e

1y EE T4 EAd)

Environmeatal Kuznets curve shows relationship between :
. 1) Economic growth and environment degradation

{2} Econamic growth and wildlife population
{3} Economic growth ar 1 plant population
(4 Economic growth ar.d trade
il F902 % e & gey gay enfa

1y et E w wieely g

Pl R T IR e
Lo BT vl sl S

{41 iR W vl sgmn

(24

(Continw
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frade-otf is required because wants arc unlimited and resources are :
(1) Economical (2) Unlimited (3) Marginal (4) Scarce
HEATA SV ¢ a4 B swerd oifta ¥ ofit e @

(haffs  (2) oméfm (3) G (4) T
Economics 1 the study of

(1) How society manages its unlimited resources

' 2) How to reduce our wants until we are satisfied

%) How society manages its scarce resources

4} How to fully satisfv cur znlimited wants

FefATR ST R

(1) wffim garadl = woe H2 FEEIE F 8

(2) W& o 6 w5 dge 7 & s, gl seenell @ ¥R Fwwa d

(3) QUK AT o1 TS 1 AR TEA 2

(4) vt andfer wemtedl @ 38 ol v B AgE TR

. Points on the production possibilities frontier are :

(1) nefficient (2} Normative (3) Unattainable  (4) Efficient
IUTER TR Wik 90 gL e R

1) wegn () TR (3) 7= (4) T=r

§ o g

{25 (Turn Lhver:
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#3,

o4,

Which of the following will not shift a country's production possibilities
frontier outward 7

(1) An advance in technology (2) A reduction in unemployment
(3) Anincrease in the labour force  (4) Anincrease in the capital stock
1 N

Wﬁﬁmﬁmh#mmmﬁmﬁmwﬁ

(1) Teirh Wi (2) st § e
(3) %n ufs 7 5f (4) &ht s 4 33
A perfectly competitive market has :

(1) Firms that set their own prices (2) Only one seller

(3) At least a few sellers (4) Many buyers and sellers
oot sferfifiven & e

(V) o 3reft e v Fruffa st §(2) v ek e 2

(3) %9 @ %0 3 Taskan € § (4) T80 B %) @ Faiar a2 ¥

ITan increase w the price of blue jeans leads to a decrease in the demand for
tennis shoes, then blue jeans and tennis shoes are :

{1} Complements (2) Inferior goods
(1) Normal goods (4) Substitutes
o Al A oo 9 & 2 o e 2R e o S

W T

RS (zJﬁ‘-fEaﬁ
13) RIEFY a6 ~(4) WA ag

{261 (M raddanssn
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The law of demand states that an increase in the price of a goods

(1) Increases the supply of that good

(2) Decreases the quantity demanded for that goods along its demand curve
(3) Decreases the demand for that goods

(4) Increases the quanrity supplied of that goods along its supply curve

g 1 fram s @ f6 Tl o 6 Hew

1) Iwht off F afy opar 2

(2) 39 9 & Hin 7% S @ Iuh 9w e & = e d

{3) 3\ 3 fi o o =t 0 2

(4) 38 7 & qfd = @ 3wt qfd = wgrn d

If an increase in consumer incomes leads to a decrease in the demand for
camping equipment, then camping equipment is :

(1) A normal goods (2) An inferior goods
(3) A substitute goods (4) A complementary goods

a3 s $it o 31y Tl sver 6 it 3§ = o & @ Rifv v

(1) T g aw b (2) @ fige awg }
(3) U SR g5 (4) = T g &

{27} {Turn Over:
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67. Which of the f s}l.lnwing shifts the demand for watches to the right 7
(1) An increase in the price of watches

(2) A decrease in the price of watch batteries if watch batteries and watches
are complements

(3) A decrease in consumer incomes if watches are a normal goods
(41 A decrease in the price of watches
S 5 2 4 9t ¥ o A B gl o frenfi = 7
i A 3 E@
(2) ufid A @ fra § w0 aft afe A Rt @ el v s
() T B o & e o et ame
(4) ufedt i Fma & &
8. An increase (rightward shifl) in the demand fora good will tend to cause :
(1) An increase in the equilibrium price and quantity.

(2} An increase in the equilibrium price and a decrease in the equilibrium
quantiry.

(3) A decrease it the eguilibrium price and an increase in the equilibrium
quantity.

(4) Adecrease in the equilibrium price and quantity.

(28) (Continued)
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3ol i win & gfy (ardt oiv feana)  aww Breaff Wi &

(i) &M Fimq & H A g

(2) #2 i  9fg w1 a2 E

(3) mﬁmﬁmﬁﬁmﬁmﬂqﬁ

(&) T g Tl qE 9 FH

Suppose the supply of personal compﬁters increases more than demand for
personal computers, then in the market for personal computers, we would

expect :

(1) The change in the equilibrium quantity to be ambiguous and the equilibrium
price to fall.

(2) The equilibrium guantity to rise and the equilibrium price to rise.

(3) The equilibrium quantity to rise and the change in the equilibrium price to be
ambiguous.

(4) The equilibrium quantity to rise and the equilibrium price to fall.

A eftferg et et <6t uftt # et vl ) gorn & srfven gf €t R, A fash e
%amﬁgqmﬁnm&ﬁa :

(1) = T 3 qitas= et gm wn s fiva F w8 sl
(2) | W § giy gt 9 A fima f wgm
{3}mwﬁq@@ﬁwmﬁmﬁqﬁaﬂq#ﬁmﬁﬂm.
(4) wre= amn | gfg Evft qon wvn fre # S AR

(29) (Turn Over)
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70.

7L

An inferior goods is one for which an increase in income causes a(n) :
(1) Decrease in supply " (2) Increase in demand
(3) Increase in supply (4) Decrease in demand

frpe Tegd @ At & Foeh forg o 3 iy Freftifra @i 3eaa o 2
(1) qfd % =i (2)ahn # af3
(3) 9fd A gfs | (4) it & =f

[f a production function exhibits diminishing marginal produet, the slope of
the corresponding total-cost curve .

(1) Is linear (a straight line)

(2) Is negative throughout its length

(3) Becomes steeper as the quantity of output increases
(4) Becomes flatter as the quantity of output increases

afy & IegiET Ferl FEER W I B weife w R @ w6ftn 50 ama T
&1 2T B

(1) &
(2) T Qi Tard # WA
(3) Frared 1 O e & Wy @ A e

(4) 3eqres i W a9t F |y que g S

(30) (Continued)
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The efficient scale of production {s the quantity of output that minimizes :
(1) Average fixed cost (2) Average variable cost

(3) Average total cost (4) Marginal cost

3G 1 28 AT TG F1 9% ww R At Freaferfiaa F ot w2

(1) aftEs fer e (2) slea fer=sfer o

(3) shwa Ft v (4) dira s

Falta Special Economic Zone is located at

(1) Bihar (2) West Bengal  (3) Gujarat (4) Orissa
ezt Rl sl & e o 7

(1) feree @) fRmamE (3) T (4) 3t
Who among the following are the beneficiaries of the MAFALDA 7

(1) Landless Laborers (2} Jobless Youth

(3) Small Industries (4) Small and Marginal Farmers
firrferfiga it & 19 MAFALDA % @i § 7

(1) i afes (2) T € g

(3) T S (4) 3 T i FIF

(31) {Torn Cher
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TS

76.

Who among the following was the chairman of All-India Rural Credit Review
Committee (1969) 7

(1) A.Ghosh (2) B. Venkatappiah

(3) C. Janakiraman (4) D.Jalan

s 3 2 F19 sifae Wi oo w0 e 5T (1969) F g 4 7
(1), & (2) , deeiftamg

(3) H, SR (4) &, SEH

In which of the following five year plans in India, the actual expenditure on the
Rural Development was almost double than the plan outlay ?

(1) 5th Five Year Plan (2) 6th Five Year Plan
(3} 7th Five year Plan (4) 8thFive Year Plan

aE & Frefafas # 4 fr veadf oo & ard e @ IR s s
qfteqd | T I @ a7

(1) tedt e graan (2) &t quaia T
(3) wed] g T (4) 3t ToaifE g

. Year 1921 is known as a year of 'Great Divide' in the demographic history of

India, After that in which decade there was a slight dip in the rate of decadal
ropulation growth in India ? '

a1 % AR yem 3 1921 #t ‘weeal e’ W F s d s
e Tvaiq e 2oe 8 W & JAEE % 30 gy o el wegm ol off 7

(1) 1921-31 (2) 1931-41 (3) 1941-51 (4) 1951-61

(32) (Continued)
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Which of the following decides the Minimum Support Prices on behalf of

the Government of India ?

(1) Ministry of Agriculture

i} Cabinet Committce on Economic Affairs

(3) Agriculture Cost and Price Commission

(4) Ministry of Commerce and industry

VT TR 1 Sl A Fpfefan § @ @9 =7 qeea 5o w Aok ok 2

(1) F ware

(2) i wett e =it

(3) TR AP T g e

(4) Mo @ T TG

In which year Marine Products Export Development Authority (MPEDA), was

established 7

forr af gl searl & P Bew wiftsw (MPEDA) ) waeen g ot ¢

(1) 1970 (2) 1972 (3) 1974 (4) 1976

Industrial Licensing was finatly abolished in India in which of the following
7

::f:frf;mﬁrqﬁﬁﬁ wad; waaE % e ol e R a7

(1) 1990 (2 100 (3) 1992 (4) 1995

{335 {Turn Over)
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81. The Khadi and Village Industries Commission was established during which five
year plan ?

(1) First (2) Second

(3) Third . (4) Fourth

T 7 e i A e o el dn % w6 7
(1) 3 (2) Refrw

EI NI E (4) vgd

§2. National Mission on Financial Inclusion was recommended by which of the
following committees ?

(1) Rangarajan Committee (2) Second Narsimham Committee
(3) Kalekar Committee (4) Chakraborty Committee

i emr S MR im A it PR maaR e i
(1) Trrr Rt (2) fefa wfem wfifr

(3) m_aﬁﬁ (4) Toart affy

83. Which among the following scheme was NOT starfed in the Eighth Five Year
Plan?

(1) Members of Parliament Local Area Development
(2) Scheme for Infrastructural Development in Mega Cities
{3) Mahila Samridhi Yojang

(4) Jawahar Rozgar Yojana

(34) (Continued;
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ﬁmﬁﬁ%ﬁmﬁmﬁﬁmmﬁmﬂﬂﬁmw:
(1) weda Ty & g

(2) weRw & SnUICyE WA & fopwra & forg A

(3) whrem Tl T

(4) SFATE VAT AT

As a wholly owned subsidiary of which of the following, the Small Industries
Development Bank of India (SIDBI) was started in 1990 7

(1) Industrial Investment Bank of India Ltd
( 2) Industrial Finance Corporation of Indiz
(3) Industrial Development Bank of India
(4) Reserve Bank of India

it 3 & frrft gol wfieg amefi werges ot % w1 1990 % yre 51 9g s
fyara &% (SIDBI) [ e man o 7

(1) wwetg st e &= fafice
(2) wrdta i fam o

(3) weta fenfis foems 9

‘4) wdtg s &%

i 35) (Turn Over)



18P/308/23(1)

85.

86.

87.

88,

Who among the following was the architect of second five year plan ?
(1) P.C. Mahalanobis (2) C.D. Deshmukh
(3) Jawaharlal Nehru (4) Subimal Datt

fna # & 2 feftw daadfa 2o & angen € 7
(1) &, W, mrEfe (2) ¥, ¥, wma
(3) TERET HXR (4) gt za

IDBI was restructured and separated from control of Reserve Bank of India in
which year ?

A A, 20d, T FdAE @ e foard §6 % P & R o sem s e
(1) 1972 (2) 1976 (3) 1977 (4) 1980

In which year, Nationalization of SB1 Subsidiaries took place ?
forg af H, T w2 o4 & TEIE At H PR RN a1 7

(1) 1955 (2) 1959 (3) 1962 (4) 1965
Consider the following statements ;

(@) InMinimum Reserve System, RBI had to keep a minimum reserve of Gold
worth Rs, 115 Crores and rest in Indian Rupees.

{b) The Minimum requirement of Foreign Securities was diluted when
Minimum Reserve System was launched.

(1} Oniy {a) is correct (2} Only (b) is correct
(3) Both of them are correct (4) Both of them are incorrect

(36) (Continued)
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() e frad frm & sqah,amd, #t =Eam Rs, 115 %% qo0 & FOAT GAT 90
hmm{gm}mm

(hy =gmn ford fiven wma 9 W R YRR € = s i
(dilute) & T |

(1) 343 Lo) TR | (2) 3= (b) wit ¥ |

A T - @) a

which among the iatowing is NOT a quantitative measure of credit control ?
. 1) Bank Rate Policy - (2) Open Market Operations

(3) Reserve Requiremenis (4) Margin Requirements

Feafrfen 4 2 @7 amg fan B ofworas /Ay of & 2
(1) &% = A (2) gen am B
0 3) wrliE amavaEeTd (4) o smayamad

The Rate at which the Reserve Bank of India discounts the Bills of Exchange of
the Commercial Banks is known as the following :

1) Reserve Repo Rate (2) Repo Rate
(3) Bank Rate (4) Base Rate

=T Wi & fafma wai (Bills of Exchange) W wRdiy fod &% g1 st ft =
ﬁﬁﬂw%: -

(1) feord 91 3 Q)W
w¥en Ha|y
{37) (Turn Over)
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Which among the following statement is NOT correct about the Reserve bank
oFIndia T

(1) RBI resumies the responsibility of meeting directly all the reasonable
"demands for accommodation

(2) RBI holds the Cash Reserves of the Banks

{3) RBI is an organ of the Gnv.f:nnncnt of India

{4) RBI is responsible for all banking operations of the State Governments
Cefian @ A @ U g Rod AR S agi TR A R 7

(1) s ah.ané, smare & frg md Ifea i @ wew w9 A qU wG A Regd e
T T AR

(2) s, &=t % g Sl (Cash Reserves) F 319 919 @41 2 |
(3) ST 3, WA BT F1TH 3R

(4) s, o g et dfdn fareendt & Rrier e R |

. In which year RBI was empowered to regulate money, forex, G-sec and gold

rotated securities market ?
fip s el avrd, =y g, Tt g, - v v B wafie vl = ffafe
i & I fear w7

{1; 2004 (2) 2006 (3) 2008 ‘43 2010

(38) (Continued\
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Micro credit in India comes under which the following activities ?
(1) Conmumercial Banking (2) Cooperative Banking
(3) Private Banking (4) Non-Banking Finance

=:W5ﬁaﬂdm&?ﬁ@ﬁﬂﬁﬁﬂﬁw#mmg?

(1) =iy 3 (2) wEIitan fdm

(3 g A (4 7 dfF fam

Which among the foliowing is considered to be the most liquid asset ?
(1) Gold (2) Money

31 Land {4} Treasury bonds

FefeTiad O 9 9 Taitaws S5t wof o ardfr 8 7

() & (2) 57

(3) ¥ (4) 7ot aie

In the terminology of economics and money supply, the terms M1 is known as :
(1) Short money (2) Long money

(3) Bond money {4) Narrow money

Fefre SR g S gfd F s T Ml S T T A S R
(1) B (2) sl g
{3 "iog {4) vl gz

LR (Turn (e
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26.

98.

In monetary terminology, what is called the ‘monetary base' or 'high powered
money' 7

(1) the total assets of RBI (2) the total liability of RBI

(3) the total debt of the government  (4) the total forcign exchange of RBI
A weeEet § ‘Aw o’ @ ‘seafe R o b

(1) smaand, $i o aiaaty (2) st amd, it Fo Z7a

(3) FEER & el B0 (4) IR I, B FA fenh v

. The ratio between cash in hand and total assets maintained by the banks is

called :

(1) SBR (Stamtory Bank Ratio) (2) SLR (Statutory Liquid Ratio)
(3) CBR (Central Bank Reserve) (4) CLR (Central Liquid Reserve)
1 R T U T U S A S IR

(1) T, o (uifafirs &% sgm)  (2) WRELAR (W W arm)
(3) D3 (¥ ¥ o) (4) ¥.58,3 (F vt fod
Which of the following is not an affiliate of the Reserve Bank of India ?

(1) Unit Trust of India

(2) Deposit Insurance Corporation

(3) Agricultural Refinance Corporation

(4) The Industrial Development Bank of India

(40) (Continued’
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Frefeaea # 9 #7 s, = dag TR 7
(1) e gfie g |
(2) o e G
3) 7 i Fom
(4) i shenfirs e &=
99. Which of'the following is a union tax ?
(1) Corporation tax (2) Taxes on agricultural income
{3) Capitation taxes (4) Land revenues
i TR adfla g 7
(1) fm = (2) R @ | 5
(3) wfir=afs (AP = (4) 4=
100. The tax levied by the union government on income of individuals is known as :
(1) Personal income tax (2) Interest tax
(3) Wealth tax (4) Corporation tax
T R g0 SRedl & T8 T S 9 96 9 R wE e ¥
(1) saferTa 3T & (2) = W

(3) uftr = (4) Frm =

(41) (Turn Over)
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101, The difference between revenue expenditure and revenue receipts is
(1) Fiscal deficit (2) Revenue deficit
(3) Budget deficit (4) Pomary deficit
T S R T T % I R A E
(1) TR (2) T R
(1) e B (4) wrafd= gren

102, The difference between total expenditure and total receipts except loans ani
other liabilities is called :

(1} Primary deficit (2) Budget deficit

(3) Fiscal deficit (4) Revenue deficit

¥l 44 UE W/ @ 4 FUEIRT ) SIS TE ATW & " F A HEA L
(1) Frafees wre (2) T2 oIz

(3) TR " (4) TG T

103. The investment in productive assets and participation in management as stake
holders in business enterprises is :

(1) SDR (2) FI
(3) Balance of payment  (4)FDI

mgﬁ@%ﬁﬁhq&ﬁﬁﬁmﬁmmﬁmﬂ#wﬁmﬁﬂﬁm

(1) TELAR | (2) T ar,
(3) YT FegeH (4) ww B,

(42) (Continued
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t04. Which government introduced smart-card for unorganized sector workers ?
(1) Bihar (2} Maharashira  (3) Gujarat (4) Delhi
foht BT A STETIH & % G F Torg W e 6 yreeta A &
(1) fEm (2) g (3) oA (4) R
105, Which of the foliowing 1s not advantage of full capital account convertibility ?
({1 Encourages import
(2) Boosts exports
(3) Easy access to forex
(4) Promotes trade and capital fiows between nations
Praferflga & & =19 i 45t @ # Avfad-aa & a8 R 2
(1) 3 =i Terras
(2) Foa ¥
(3) fageft fAfm i g Sveeum
(4) T & weg =R @ 3 YR S S
106. Which committee recommended abolition of tax rebates under Section 88 ?
(1) Chelliah Committee (2) Kelkar Committee

(3) Shome Committee (4) Rangrajan Committee

(43) (Turn Qver}
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fr TR 3 1088 ¥ st i g TR A F A fF1 7
(1) 3w wfufa (2) v wifd
(3) ¥ @iy (4) T G
107. In India, deficit financing is used for raising resources for :
(1) Economic development
(2) Redemption of public debt
(3) Adjusting the balance of payments
(4) Reducing the foreign debt
e & e < fw gaen Rl $ f e o+ o e
(1) enfif fmm
(2) SRR R O
(3) 4TaH HeA 1 TR
(4) faesht o o =t
108. Which State in India became the first to ratify GST bill ?
(1} Telengana (2) Andhra Pradesh

(3) Assam (4) Arunachal Pradesh

(44) (Continued)
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2 1 e e 3 wn Fged S W g e ?
(1) o (2) ey
(3 g (4} SoUTTE oy

109. Indian GST mode! has how many bands of tax rates ?
el FE 8 T A R R R A PR H

)3 24 (3)5 (4)6

il

1*6. The percent of total variation of the dependent variable ¥ explained by the set of
ndeperdent variables Vis measured by

(1) Coefficient of Correlation (2) Coefficient of Skewness
i1 Coetticient of Determination (4) Standard Error of Estimate

A W X H QU IRad F weeaEy R Y E AR A v oied 6 oam
el o 9l R

(1) geday o (2) g Ui
(3) faufor Toriee (4) 13 6 W R

11. ifr=06,bpx=12then iy =17
ﬂﬁr:ﬂ_ﬁl _Ej}_lx:: 1.2 FIKI 51}).:?

(1) 0.3 (2) 0.2 {3)0.72 (4) 0.40
112, When regression line passes through the origin then :
(1} Regression coefficient is zere  (2) Correlation is zero

.3} Intercept is zero {4) Association is zero

{45) (Turn Oher
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w3y Y v faeg @ g et & 7
(1) ST T Y1 3 R g (2) wEEEY T[4 F 90T FA 2

(3) ST YA B (4) Tt a7 Hen @

1 3 4
Ir3.FindthedetenninantﬂfthematrixA=[2 1 ﬂ].

322 5
ﬁngw;;ﬂmﬁmmqam*ﬁﬁm
(1)07 (2) 28 (3) 35 (4) 63

3 -1 9
114, What is the va'ue of det (74), if matrix 4 =[0 2 6}
5

0 0
3 -1 9]
MR AF R} AT @ REW A={0 2 6
0 05
(1) 30 (2) 210 (3) 1470 (4) 10290
115.°P, is equal to :
5P, %1 Ygd T & :
(1) 36 (2) 360 3)6 4) 4

Fi6, What is the pmbgrbliilzhnf getting a sum 9 from two throws of dice ?
Ush YR W 31 9 e o U a1 /) a0 9 A ) wilear @ g 2

(1) 1/3 (2) 1/8 (3) 1/12 (4) 2/9

(46) (Continued
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t7. Two dice are thrown simultaneously. What is the probablity of getting two
Aumbers whose product is even ? '
BRICE R CRUCE TR TS TR 2 3 F T 7 il & e qoreE
T ’Et :
(1) 3/4 (2) 1/4 - (3)7/4 (4) 1/2

118. Differentiate the following equation : y = 6x~
v - 6x ' @ st il

(1) dvidx =-18x" (2) dylde=~18x"
‘3) dvide = -12x" (4) dvidye =-3x7"

115. Which of the foliowing is the indefinite integral of x2 + 7 2
Freafofes % & 21 32 + 75 sPifRe g b 7

(1) 2x+¢ (2)x*+ Tx
(3) 1/2x* + 7x (4) 1323+ Tx+¢
120. Margin Requirement is an example of :
(1) Selective Credit Control (2) Quantitative Credit Control
(3) Qualitative Credit Creation (4) None of the above,

it ey e TEm R 0

(1) =aamens 7rE Fan (2) T wr@ e
(3) O ATg g (4) Iotres & o T |

{47) B-500
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(5 fEranT # oI STATT Y8 W AN ot -1 3 AT g TR
freht et wve-vamiz A A 4 ferdd)

o7 i Y 3 30 R F 5 & 2@ @ f owre 8 W5 TV 3 o wrd WA g
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) YA WH ¥ T

wfim wuTs 3 EIT-9F & Nk T, Tt I AT wrd o e DR me T T E |
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Jir-uT TFT AT WA | A LRI, T T gy far wrEm |

it iaf e s8R frelt /e 3 @ Faifie w6 w R |

ST T S oy g T O # AT HFHIH A zend O ford wr Ard R gt i
g7t a0 3 | i~ AgT TR G T - G T F e FHF AT AU KT F T I
i wt e |
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